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|OgY0 = —0,35[.1)\—U570]

N: Keine 3D-Linearisierung (OL) in Datei (F) oder PS-Startup (S)

Uy=(A — 550)/502
log  =-0,35u)-u ]
log - =-0,35u)-u ]
Adaptation: A =520
0 m)=-0,35

m=0,44
Schwelle
ta=0,00

]2 uy=(A — 550) / 502
]2 log  =-0,35u)-u ]2
] log- =-0,35u)-u ]
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-0,35lu\—u log  =-0,35u)-u ]
-0,35l)\—u log - =-0,35u)-u ]
-0,35[.1)\—U570] Adaptation: A =520
570 m)==0,35

logYo= -0,35[.1)\—U570

-0,35)\-u - uy=(\ - 550)/502
-0,350\~-u N log =-0,350)\-u ]
-0,35L)\—u , log - =-0,35u)-u ]

Adaptation: A | =520
570 m)=-0,35

m=0,44
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P —a— N
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|Og Yo = —0,35[J)\—U570]
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-0,350)-u ] uy=(A — 550) / 502
-0,35L)\—u ]2 log =-0,35u)-u ]2
-0,350\-u ]2 log  =-0,35u)-u ]

Adaptation: A =520
0 m)=-0,35

m=0,44
Schwelle
ta=0,00
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uy=(A — 550) / 502
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-0,350\-u ] log  =-0,35u)-u ]
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Schwelle
t4=0,00
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Adaptation: A | =520
570 m)=-0,35

1

1

1

1

1
m=0,44

Schwelle
t=0,00

A

|Og YO = —0,35[J)\—U570]

370
1,

700 A/nm

-0,35l,—u ] uy=(\ — 550) / 502
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uy=(A — 550) / 502
log  =-0,35u)-u ]2
log =-0,35u)-u ]
Adaptation: A =545
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m-0,44
Schwelle
1+=0,00
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uy=(A — 550) / 502
log - =-0,35u)-u ]
log =-0,35u)-u ]
Adaptation: A =545

m)=-0,34

m=0,44
Schwelle
$+=0,00
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uy=(A — 550) / 502
log  =-0,35u)-u ]2
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Adaptation: A =545
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S Uy

= -0,350p-u

700 A/nm

u=(A = 550) / 50,
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